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COMPOUND INTEREST ASSIGNMENT

Find the compound interest on X 20,000 at 15% per annum for 2 % years.

X 20,000 && 15% oG o'y oissHHABG 2% T BBEHHGHD Tl B QUL IgMUIS

BTG SH.

The simple interest on a certain principal for 3 years at 10% p.a is X 300. Find the
compound interest accrued in 3 years.

T oEFasg 10% e aliguie, 3 aIGsEnHE HmLeEGD Saiauly I 300
oId60, DIFBGHS FMLEGWD Fnl HoULIQENUISH BHTEWIS.

Find the C.I. on X 15,625 at 8% p.a. for 3 years compounded annually.
15,625 &3 B ally 8% ealed, 3 YUMBBEHHSGHD Fnl B ULl HTEVIALD.

Find the rate of interest if the difference between C.I and S.I on 8000 compounded
annually for 2 years is 20.

X 8000 &&, 2 UWBBEHEG M5B S 19HGID Fnl BHoUL 19&HGID BenL_GuiujeiTer
algFHwngd X 20 eafled, au'lp aipsHmeHd STawsm.

The value of a machine depreciates by 5% each year. A man pays X 30,000 for the
machine. Find its value after three years.

@M BuUbsISHET I @ACan® SWGD 5% GOBIBI. PGAT BDS P
AMBIGAHBGH . 30,000 CBTHHIHIT. peim UM BBEHHGL LIBEG BT WAL 666 ?

In what time will Rs.5,400 amount to Rs.6,773.76 at12% per annum compound
interest?
GT6URI6NTR)| BTELUHFHD ¢H.5,400, ouemibdh@ 12% gl B auliguiled ¢5.6,773.76 & LOTHID?

The compound interest on X 40000 at 6% per annum for 6 months, compounded
quarterly, is

STOTEI(BHHEG @[ (WOB QI lg HabHBID  (PeBUled 6 ITSHHIBEHHESG DUBHHSG 6%
aigb 540,000 WBHTO Ful B GULLY SHTEIH.
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8. Calculate the amount and the compound interest on Rs5000 in 2 years when the rate
for interest for successive years is 6% and 8% respectively.

OIBSHHBHS HMBBEHEHETET a1y aisDd (WG 6% wimb 8% oie BHbG Gurs
2 opemihoerev h.5000 SHamen CTHsd CHTMmHMUWIUID Sl (B UL IQeDWIULD HT6wISH.

9. Vicky borrowed * 26,400 from a bank to buy a scooter at the rate of 15% p.a.
compounded yearly. What amount will he pay at the end of 2 years and 4 months to
clear the loan?
aldbd @ VGLLMJ 6UMTHE 6@ eaumdSluled 5.26,400 m& sSLMHL CUBBTT. SL6H
aullg 15% oisb, eWOLTHIBIGE ol gmus GFTHSHTed 2 LeWI(BHB6T 4 LOTHRIGH6T L6
LelT ST HLODT VLSS DIAUT elelelene] CFashHd GeuemiBhld?

10. Find the compound interest on Rs. 1000 at the rate of 8% per annum for 1 %% years
when interest is compounded half yearly.
Ay Seywmeni(héd@ gl Liup Gurgl 1000 epumul WsHTeT Gl (B 6Ullgenul SLewIBHE)
8% et aiFHD 172 eWIBBHEHHES ST HlUiaD.

11. A sum amounts to Rs. 756.25 at 10% per annum in 2 years, compounded annually.
Find the sum.

UWBHGH @ (PedB el lg Fml LIUGD (Wempuied @ CHTenswneig oueibhosdg 10 %
aipb 2 LewihEHeriled h.756.25 HMBGHI 6160 DbFH OHTEHHMW  HT6WISH.

12. Three years ago, the population of a town was 50000. If the annual increase during
three successive years be at the rate of 4%, 5% and 3%, respectively, find the present
population.

PSIID  heWI(HBEHEE (Pl @(H bBIITHIE WHHeT GFHTensd 50000. OFHTLIHSH  CLPTHI
aemipsefed oiFHafiy  wempBu 4%, 5% womb 3% e AmbHTEL, SBCLTMSHW
&H6NT CFHTnHMWSH Sl BlUIALD.

13.The difference between compound interest and simple interest for 3 years
at 20%p.a. is 152. What is the principal lent?
20% opewih aullp eiHd 3 UMIBHEHEEG B Ul HG Sl Al hGHD 2 6len
AlSHHWTFID (5152 elefled DIFL OCFHTMHMUI BT ?

14. At what rate percent per annum will a sum of Rs. 4000 yield compound interest of

Rs. 410 in 2 years?
. 4000, 2 syewihHeriled ¢h. 410 Gl (B aUlly eNSHHTEL SLeWIBh UL lY eIHD 6T6wT60 7

15.Simple interest on a sum of money for 2 years at 4% is ¥450. Find compound interest
of the same sum and at the same rate for 2 years.
4% ey aipsHH0 2 JWHBEHEGH @ OCpTmddETar  Hell  eully  @.450. 2
MBBEHHGFH D6H CFTems LBBID D6H eI YaiddhHed gl (B UL IgenUIsS 6Tl lUe]Lb.
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